System TLSO0O0 Colour rq o] by L*qg C*abd hapbd @*g b*q4 Xd Y4
WCGa R{ 10 00 00 5535 14767 40 11269 9543  56.43 23.27
LabC*h Yy 10 1.0 00 9316 13313 99 -2063 13152 69.24 83.34
a ab Gy 00 10 00 81.88 19989 146 -16552 112.06 12.81 60.07
D65 reflection: C4 00 10 10 8516 10574 190 -10425 -17.67 27.77 66.32
Yn = 0.01 By 00 00 10 2744 14211 306 8274 -11553 14.96 5.25
N =0. Mg 10 00 1.0 6036 13847 335 12538 -58.77 7139 28.52
L*4 = 0.09 NG; 00 00 00 009 002 0 002 00I 001 0.01
e wg 1.0 10 10 9541 001 0 0.0 0.0 84.21 88.6
Normalization: N; 00 00 00 009 002 0 002 001 001 0.01
greyYz=18 wl; 113 113 113 1000 0.0 0 00 0.0 95.05 100.0
zly 018 018 018 495 001 0 001 00 17.11 18.0

SyStem TLSO0O0a cColour rq dd by L*qg C*abd hapbd @*dq b*q Xq Y4
WCGa Ry 10 00 00 5535 14767 40 11269 9543  56.43 23.27
LabC*h Y, 10 1.0 00 9316 13313 99 -20.63 13152 69.24 83.34
a ab Gy 00 1.0 00 8188 19989 146 -16552 112.06 12.81 60.07
D65 reflection: Cg 00 10 10 8516 10574 190 -10425 -17.67 27.77 66.32
Yn = 0.01 B 00 00 1.0 2744 14211 306 8274 -11553 14.96 5.25
N =0 M¢ 10 00 1.0 6036 13847 335 12538 -58.77 7139 28.52
L*4 = 0.09 NG, 00 00 00 009 002 0 002 00l 001 0.01
ok wg 1.0 1.0 10 9541 001 O 0.0 0.0 84.21 88.6
Normalization: N1(3,j 00 00 00 009 002 0 002 001 001 0.01
greyYz=18 Wiy 113 113 113  100.0 0.0 0 0.0 0.0 95.05 100.0
Zly 018 018 018 495 0.01 0 001 00 17.11 18.0

System TLSO00b cColour rg Od by L*g C*abd hapd a*q b*g Xd Y4
WCGa R{ 10 00 00 5535 147.67 40 11269 9543  56.43(=56.42+0.01)

LabC*h Y; 10 10 00 9316 13313 99 -2063 13152 69.24(=69.23+0.01)

a ab Gg 00 10 00 81.88 19989 146 -16552 112.06 12.81é=12.8+0.01) 60.07
D65 reflection: Cg 00 1.0 10 8516 10574 190 -104.25 -17.67 27.77(=27.76+0.01) 66.32
YN = 0.0 By, 00 00 10 2744 14211 306 8274 -11553 14.96(=14.95+0.01)

N = 0. My 10 00 10 6036 13847 335 12538 -58.77 71.39(=71.38+0.01)
L*4=0.0 NG 00 00 00 009 002 0 002  00I 0.01(?o.o+o.01) )

e wg 1.0 1.0 10 9541 001 0 00 0.0 84.21(=84.2+0.01
Normalization: N 00 00 00 009 002 0 002 001  0.01(=0.0+0.01)
greyYz=18 Wiy 113 113 113 1000 0.0 0 00 0.0 95.05&:95.o4+o.01)

zly 018 018 018 495 001 0 001 00 17.11(=17.1+0.01)

E

Zy

Zyg

Zy4

=60.06+0.01
=66.31+0.01

5.25(=5.24+0.01)

28.52(=28.51+0.01)
0.01(=0.0+0.01)
88.6(=88.59+0.01)
0.01(=0.0+0.01)
100.0(=99.99+0.01)
18.0(=17.99+0.01)

Colorimetric "Standard data": Television Luminous System TLSO0O for CIE lightnessL* =00 of black and for CIE standard illuminant D65

Xd Yd
0.0 0.708
2.48 0.4465
2.48 0.17
96.48 0.1457
94.0 0.131
94.0 0.3682
0.01 0.3322
96.48 0.3127
0.01 0.3322
108.9 0.3127
19.6 0.3127

Colorimetric "Adapted data (a)": Television Luminous System TLS00a for CIE lightnessL* =00a of black and for CIE standard illuminant D65

Xd Yd
0.0 0.708
2.48 0.4465
2.48 0.17
96.48 0.1457
94.0 0.131
94.0 0.3682
0.01 0.3322
96.48 0.3127
0.01 0.3322
108.9 0.3127
19.6 0.3127

23.27(=23.26+0.01)
83.34(=83.33+0.01)

)

Xd
0.0(=0.0+0.01)
2.48(=2.47+0.01)
2.48(=2.47+0.01)
96.48(=96.47+0.01)
94.0(=93.99+0.01)
94.0(=93.99+0.01)

0.01(=0.0+0.01)

96.48(=96.47+0.01)
0.01(=0.0+0.01)

Colorimetric "Adapted data (b)": Television Luminous System TLSO00b for CIE lightnessL* =00b of black and for CIE standard illuminant D65

Yd
56.43
69.24
12.81

27.77
14.96
71.39
0.01
84.21
0.01

108.9(=108.89+0.01) 95.05

19.6(=19.59+0.01)

17.11

Y4/88.59
0.292 0.262¢
0.5375 0.940
0.7971 0.618
0.348 0.748
0.046 0.089
0.1471 0.321

0.3322 0.0001
0.329 1.0

0.3322 0.0001
0.329 1.1287
0.329 0.2032

Y4/88.59
0.292 0.261¢
0.5375 0.940
0.7971 0.618
0.348 0.748
0.046 0.059
0.1471 0.321

0.3322 0.0001
0.329 1.0
0.3322 0.0001
0.329 1.1287
0.329 0.2082

Ya/88.59

23.27 02
83.34 g.¢
60.07 Q.¢
66.32 N
5.25 g.C
28.52 (.3
0.01 0.00(
88.6 1.p
0.01 0.00¢
100.0 111
18.0 0.p(
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